HIT-1
fa=dt frwa ur senRRa (01-15) agfaredia usit & W §ifSg)
SHTHTT- 1
Q1. Ffef@Ea & us area Ffegef 8-
(A) forazreft it o 78t &+t arfee
(B) @8 TG €% Ugd T
(C) mi<t Tra & uerar @
(D) =TI 7 UTE Gt i WET
Q2. famT uf3esT &Y v St 82
(A) 3r@eft (B) @St diell (C) SS1UTST (D) S7Tgder
Q3. 'S R gHen 7 foran mar g 39 areai & e U o= 8-
(A) 3MTehT=T (C) 37ateAT (B) 31TshHeh (D) TR
Q4. 'Sit IIgd #He TIfd § SR AT g1 36k oy Uah Uz 8-
(A) H2R (C) TR (B) ETT (D) Harshr=n
Q5. @R I T T W19 T BT 8?2
(A) A3 (B) IETE (C) €19 (D) iy
Q6. "fgw St nfy ru &Y, T dhyg Tl T IR IR @, 98
SR gl 1" U dferal # l=ar sreiaR 82
(A) IUHT (C) TH (B) ¥Uah (D) =W
Q7. 7 @ areT g, AT AW 9| S G i FHig W, @ gika g
g1 | vga ufRal & st 8¢ 87
(A) |IRaT (B) |urg (C) aleT (D) &=
Q8. F=fofea 7 fagsg ug 8-
(M) 3|1 (B) SifedT (C) AYRAT (D) AfgAT
Q9. &=t feag s 7= ira @2
(A) 14 3TagaR (B) 14 f&dwR (C) 11 517 (D) 15 faawr
Q10. MR & TR’ WA &1 14 fohg e 3 faar 7
(A) fagrd (B) W@™ (C) 94HS (D) YRard
Qn. ‘arueft forg faen # < 82
(A) TFHHYT (B) eI (C) THRUT (D) T3 g
Adar (1-4) : FafafEa srgede ygaw 39 w suTRa
usl & IR @

T & 59 A1E @ g3t 999 sifdes e gtar g, 98 R §Y 8
g9 AglA 6l hiAd §u g3 A1 ol 8, wfcha a+ft ggars ghar @
foh ag a1t oft draa famra gt s, Stes It v, S et Aar
& ditaet # 9 514 forat afeal, foha 9 gaea: 20 33 81 fi
Giaar g, af ordt ¢ foh g3 fopeft & Stem & s A e gt A o
fohamt 12 7E1= g1, 381 Hali & Uct-Ucl i SiTSdhe gH-3T0 T
A St &l Hara-farmed €1 frart azad gu gn= uran fs g
forar TR-TR 7g § U Sita- Sftar 81 mae g fandt ot & sfre=
! 39 AE gahel A forar SIram gRTT | IR HEA | §H Ueh el Ul
A & 3R g IR AEA & FE@-§W@ ! By HIed g1 AT A ST
21 gHA ot Tt & g @ g ot o fRara € dhae Qar Sita @
St Tref it ATk UR WA il g | 39k YT IehT dch grar oT b
T a4 & 91 R 39 a1d i gaTg A8l el ¢ o thel STest
BT 41 §R7| I8 T FS HIGH & gaTel T2 Site o STl =aR0T Y
dardt A e e @1 e e gu St ggHrd gt 38T 8, 39 foraan
STET § 1 39 RN o 91y o foprit t i ufveaeh wima & 71 &)
sifm 7 & MR S FoFaTe HahT, o] ofR Twe! ® 3ot U2 €1 39
37N & TTY fop 31 g1t T 1A & 39 Bl § ¢ Sita &t ¢
Teilch T YoIAT-GaRT STQT|

Q12. forar @ & forar o< 2-

\_(A) fasiwor (B) faar-fastsor (C) @@= (D) wdam

fave fror darg et & wiagifiar o
maﬁmﬁmmu&eruﬁmmwﬁmﬂw— 012

| (A)under (B)at (C) into (D)in

Q13. iEe Wt & ary-ary forgw &1 & oft 71 @2

(A) o &1 78 8

(B) foram &t &g g1 7 Twgt

(C) 79 & oY Ta F© e el

(D) ¢ & forg Qeft szt U=t @

Q14. @@ ! femmr ¥ fagiy eama g, Fifeh

(A) A SEAdT 8 (B) TTA T Sifwad HagT 8

(O Tt g (D) e U et el 8

Q15. 2AE] T HIET e A9 & faz &2

(A) FSTRIT-HaRT (C) hehg-UeR (B) 9T9-5Y (D) Y@ §:@
WNT-2 3HUSh

Siisht fawg or smutlRa (16-30) agfReedta usit & IwR ffSq)

Read the following passage carefully and answer the
questions::

What causes the monsoon? The monsoon, which is
essentially the seasonal reversal in wind direction, causes
most of the rainfall received in India and some other parts of
the world. The primary cause of monsoons is the difference
between annual temperature trends over land and sea.

The apparent position of the Sun with reference to the
Earth oscillates from the Tropic of Cancer to the Tropic of
Capricorn. Thus the low pressure region created by solar
heating also changes latitude. The northeast and southeast
trade winds converge in this low pressure zone, which is
also known as the Intertropical Convergence Zone or ITCZ.
This low pressure region sees continuous rise of moist wind
from the sea surface to the upper layers of the atmosphere,
where the cooling means the air can no longer hold so much
moisture resulting in precipitation.

Q. 16 Monsoon is

(A) A type of sea wave

(B) a seasonal reversal in wind direction

(C) very hot wind

(D) very cold wind.

Q. 17 What is the full form of ITCZ?

(A) Intertrance Conuergence Zone

(B) Intertropical Conuvergence Zone

(C) Intertropical Capricorn Zone

(D) Intertropical Conveyance Zone.

Q.18 The major cause of monsoon is the

(A) difference between annual temperature trends over land
and sea

(B) difference between day and night temperature

(C) moisture in the atmosphere

(D) None of these.

Q.19 Low pressure region is created by

(A) solar heating (B) lunar cooling

(C) moist wind (D) dry wind

Note:: Select the suitable prepositions from the
options.

Q.20 They were sitting __the tree.

(A) by (B) for (C)to (D) at

Q.21 The bank is ____the cinema.

(A) on (B) at (C) beside (D) to

Q.22 The books belongs Mayra.
(A) of (B)to (C) by (D)with

Q.23 She was hiding ___the table.

(A) on (B) in (C) under (D) upon

Q.24 There is some milk ___ the fridge.
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Q.25 The pen was ___the books.
(A) beneath (B) under (C) at (D) with
Q.26 His shorts are below the knees.
(A) by (B)at (C)below (D)to
Q.27 Ritu lost her ring ___ the beach.
(A) at (B)to (C)into (D) by
Q.28 Nitin drove ___ the bridge.
(A) near (B)by (C)to (D) over
Q.29 Jitender sat ___ the chair.
(A) by (B) on (C)at (D)in
Q.30 The cat jumped ___the counter
(A) off (B) by (C)to (D) at
-3 nfora
nfora freg ar snunfRa (31-65) agfeadia ost & 3w
&faqi
Q.31 it =i &1 1/3 7T 800 § & IWahT 2/5 T T g2
(A) 560 (B) 670 (C) 980 (D) 960

Q.32 urft & ga &t 6 ez 7, 4 Hex 9 ok 1y, e Fh 21
39 urt &t Tt &t anfa -

(A) 24 w7 Htez (B) 36 g Hiez

(O nvEa R (D) 1687 Hizz

Q.33 U @S feeehl A WTEER i U 8:20 T91 TR !

21 98 AR FUAR Hi 15:30 T91 GgTdt 81 Tt et uge #
e awg ad &2

(A)9sE10 e (B) 319¢ 10 e

(C) 24 w2 10 e (D) 32 w2 10 e

Q.34 50 fEt/a2 & are & adt g3 g 1500 Hier &t Mt 500
Hiez &2 qe &1 fhawt awa F ar &af?

(A) 140 T8 (B) 144 T3 (C) 150 Ths (D) 1554hs

Q.35 T forelt @ &t 5 ot o qn wig= 10 AT A ear & ot St
forerane 7 3 @ ot fona et A v 2

(A) 10 . (B) 12 &=, (€) 9 f&=1. (D) 18 A

Q.36 9 & =1 29 ¥6300 & 3R 3 MY Fit Fra UF I F TR
81 Farsd s Mg &t Fiwa = 82

(A) 400 (B) T450 (C) T425 (D) T350

Q.37 af% 2x - 5 = 3 8, & x &1 7= TN gm?
(A)x=4 (B)x=-4 (()x=1 (D)x=-

Q.38 x* - 4x + 4 = 0 & forg x &1 =717 ] gFM?
(A)x=2 (B)x=-2 ((O)x=4 (D)x=-4

Q.39 U@ g1y Y Fars 8 Aefto, drsrd 6 Wefto 3k wars 10 Ffto
21 39 9AIH &1 A a1 g ?

(A) 480 Tflo®  (B) 4800 Ffto?

(C) 960 Ffto* (D) 9600FH o*

Q.40 U g1 &t sunfRfy STd g¢, 36 Sther @ ghm?( g9 &
sefarg r )

(A) A =Tir (B) A = 2nir (C) A = nir/2 (D) A = nir?

Q.41 U TUR A U 3% i ¥00 F @dier ok 37 ¥ 1000
&) 39T o wfdera e 82

(A) 20% (B) 25% (C) 30% (D) 35%

Q.42 (&4 x 47-2) &1 W9 =T 87

(A) 4 (B)16 (C) 64 (D) 256

Q.43 ag w&m T gt afe gwe g & sy &t a8 5/3 ghm-
(A) 3/5 (B)5/3 (C)6/5 (D)5/6

Q.44 TS AT 7 Gah IATE &1 2 200 F @2 3R I8 20% F
v W 39 fan) e fasht geg @ 82

\(A) ¥ 240 (B)T 250 (C) 260 (D)¥ 280

Q.45 afﬁ?soooa:rzaﬂé:ﬁqquaﬁa:aﬂaaq@m\
a1 g

(A)Z 1000 (B) 1050 (C)Z 1100 (D)Z 1200

Q.46 3v2 + 5V2 &1 HIF &1 87

(A) 8v2 (B) 15v2 (C) 12v2 (D) 6v2

Q. 47 Y& HTGF &1 &l 48 To? & 3R Iudh! sans 12 o B
g derE m ghfi?

(A) 280 (B) 380 (C) 48t (D) 6 Ffto

Q. 48 x* + 8 &I v=IfE w4 8-
(A) (x + 8)° (B) (x - 2)*
(Ox+2)*-2x+4) (D) (x-2)x* +2x + 4)

Q.49 200 Hiex et U 27 U A T da1S F WewH H 36
s dur & &1 ffiaa g nfy 2 -

(A) 61 fsfi/aer  (B) 60 fafiyaer

(C) 64 fasft/eizr (D) 63 fasft/azn

Q.50 arar Y T | U GrgfdE H1E I WA F Widewar @

fos Franten mar #1E ua 87 F18(face card) & ?

(A)13/52 (B) 3/13 (C)4/52 (D) 1/4

Q.51 U aras A 8 e, 7 Ateft ofik 6 g8 A2 &) of argfeds =a
& g g Frarett Srg &t 7 8 @ ok 7 €1 58 i & Freer A
wrfdeRran gift:

(A) /21 (B) 6/21 (C) 8/21 (D) 6/21

Q.52 # 2000 @ BYE U TR iept i T §1 /Y Ugel 3w (A
&) freR 3ic &1 Uh-AuTE @ qun sifaw 3is, g 3T F1 8 T 21

ofe wuw &1 il @1 aThe 7 8, at 34 ugae Hifs

(A) 1284 (B) 1248 (C) 2418 (D) 2345

Q.53 3wt 0, 2, 5 3R 6 & Iyl |, famr ofat i grradt &, fi=
3iepl &Y TS O T arelt FEd T8 3R Tad S gt &
3= ghm-

(A) 447 (B) 448 (C) 449 (D) 450

Q.54 144, 360 3R 504 FT TewH TATITIH & -

(A)75 (B)76 (C)73 (D) 72

stuﬁﬁmﬁamﬁmmsssaéaﬁﬁ&mm
(A)92 (B)93 (C)94 (D)95 3

Q.56 BTaifeha w1 &1 fog w0 g -
(A) 6/8
(B) 3/a

(C) Uk =t |t &
(D) &

Q.57 3/10 &1 (3/5 &1 1/4) & fAwfSa #37 W wrTka ghn -
(A)2/3 (B)2 (C)3/4 (D)3/5

Q.58 gt ad & 33 #, 7100 FuA & 4T W 10% vfy af Fr R A
aehgfeg saror g -

(A) T 1492 (B) 7 1493 (C) T 1494 (D) T 1491

Q.59 5000 FUY FI 20 % 21 3 & 3 TY &1 JTYRV AT & -

(A) #3000 (B) 4000 (C) ¥2000 (D) #1000

Q.60 TR =T AR TWhfe TS & &9 UF & AR B -

(A) 7T TfR fBR @ aur IyR 37 1 gft safy & R qm afv &
JAR - TgTd gl Wl 81

(B) 7 af¥ faR ¢ @ qur gm af AR 2

(C) Zt & & g 7t

(D) &g 1= & 81

Q. 6110 flo Faé 3R 5 Ffto <heré aret smaa &1 afTy ghm -
(A) 34 Ffto (B) 30 Ffio (C) 34 Efio (D) 30 Fifto B




6.621:@Wﬂ2ﬁmﬁmaﬁﬁmwm1ao
Teffo 2 3fR 3mga- 900 THto® g -

(A) 53fto (B) 22 Tfto (C) 3 fte (D) 24 Tfto

Q. safrnéar@ﬁrﬁqamaﬁoéuﬁww e E’ramcaﬁr
W &g faig forar man g, af 2ACB = ?

gA)) 35° | /

B) 110 .

(C) 55° -\@’—a .
(D) 70° ~

Q.64 ¥ forelt o @t 15 et & ahan @ ot 2 e & ag fraam v
HTH T 87

(A) 2 9T (B) 2/15 ¥ (C) 3/15 ¥ (D) 15/2 T
Qasﬁw%@aﬁaﬁ@ﬁﬂﬁﬁah@aaﬁmaﬂﬁaﬁfmﬁaﬁ
TeegT T e Rramar 81

..
F=fafaa garel o s 2 — e®
(i) Gesta 3R fohdhe udig e arel faenfiat & dwen g -
(ii) afciare &t g1 | aThedid UHg e ardl faenfiai &t
G 8 -
(A) 27,4 (B) 3,27 (C)27,3 (D) 4,27

avs-4 fage=
s g wR anenrlRa (66-100) agfaeretdia usht & IR
&gl

Q.66 U2 & <t arfiT #Afa A o uehR & gareh a1 v R
SIGIN

(A) HTpferh geoich (B) &8 goieh (C) it gsieh (D) Fargger guieh o
Q.67 R & TG Ied Fadl 4 U GIYUH F1Y 1Y AdFAeme
A T HTH @71 AT

(A) Feigeiex (B) Tl (C) fewmiw g5 (D) & g1

Q.68 Ty Ul & e | STeT WIS & oy W<k foham Sirar o1
(A) #fess 20 (B) BA &1 (C) Ru s (D) U 3189

Q.69 HTSHhIATUE & SiHd Phedld &

(A) To 5% (B) foret ie@

(C) Ger foreitd (D) IWHH § I

Q.70 HH AT 4 <t Irg <Y WAT AT 7 Sie- R UTed Sifera i
HEd &

(A) 3HH & BT (B) ahieieR (C) BT (D) U =ieh

Q.71 7, 7 Tl § 99 g A 9% Y hed &

(A) STRT (B) & (C) gdie (D) usin

Q.72 e Td e a9 & folg i 61 FHUST §H TalT &zt &
(A) S (B) e (C) M (D) &

Q.73 ARkt &1 @It & 357 aTet T Hl 89 g &

(A) foeft faeft (B) @spara (C) erdtst (D) s

Q.74 JTR A I ferTch vaiT & g9 YR Tohd &

(A) T & (B) U & (C) forwmm & (D) ST A 4 1S gt
Q.75 i & URIN® gy T gERT AT 8

(A) 3THd (B) hiciggler (C) HeR fiiesh (D) hleegqH

Q.76 W it et T g arer AT

(A) et (B) Whdt (C) FETR&R (D) STk ft

Q.77 @1 T o Al &Y wHY S hRT BIeT 8

(A) HfRmE & it I (B) thTEhRY &Y T §
(OatcagPHradt @ (D) ot & T8t

Q.78 T geres 7 fFT TR &1 74 UG BIaT &
(A)IYTIAA 9 (B) 3add o9

\(C) 3=t 3 (D) SuRH & @ FIE T

| Q.79 dtefi & gow st it e @ -

(A) g7 (B) WRITHUT (C) HHhTR (D) GeheR

Q.80 IHT UTg FHeaTdl &

(A) GHT (B) =il (C) THT 3R =&Y @41 (D) urr

Q.81 HHg Il IR &9 ATUT & UR &l HTs gidl &

(A) 74 T&HIex (B) 76 Tétez (C) 76 Hiex (D) 120 TR
Q.82 I I SAThel & HIUTd Gl Hed 8

(A) &1 (B) I1eT (C) &Ta (D) wROT

Q. 83 g YT &1 HESH BT 8

(A) BfeR (B) o (C) dlee (D) 31

Q. 84 UTfdeh I0 a1c o Rigra fohe damfas = fea

(A) #3a 3 (B) oHTeh 7 (C) =Ty 21fd= A (D) &t 3t forer =
Q.85 ST ¥ =R &l uféydl & 1A Id13y

(A) S (B) S (C) SR el G (D) <hielt

Q.86 3 wifd fiard @

(A) Faifar (B) 2dersfew &t (€) diferat (D) wéf Spanra

Q.87 SRR # hicRrw fit el & gt | oraeh o STt & a8 gedl gl
8 Gt ge et 8

(A) Tt gE (B) Tgwh ge (C) uaTe! ge (D) tharek

Q.88 SIS I 7T ek §H i AT T Ut FHdd &

(A) Tegfafaas (B) =gt (C) 3/ (D) @fst

Q.89 g4 g &a uaryf it 3T &t g & forg wgeh R e @
(A) urt (B) 318 UTISX ST I3

(C) gar (D) IR A § I TE

Q.90 YRd T Y& I gk AT 5t hicthTdl & el gid §v
Ui €1 deh ST @ hgerar &

(A) A2 g185a (B) Sfi<lt A=

(C) et dletpraT 818§ (D) s dah s

Q.91 AT 3% &1 U=R AT H TUE 1 HeAT hgdrdl g
(A) Fr:2refierzor (B) &=itar (C) €Y (D) 2 arfafas
Q.92 A1 & fdea & forg gad mgayguf uead 8

(A) uf@r (B) &= (C) fem (D) w@rexy

Q.93 T ¥ U g areft ot | § rfdenier gedft ;R ugeH & ud &
I8 g1 Tt @

(A) STeT arsq o hIROT (B) aTg H&e S RO

(C) &1 71d & o (D) 3rafeh UgHUT & HROT
Q.94 =T & ST & IWRid IFH! AR g 2@t gfg aur 3fa
3@ &1 1Y 8

(A) g it @ (B) frerar @ (C) gfE & (D) ormg wg
Q.95 SHEET ME Hieud & SgaR @re At # gig gt @l 8
(A) sies niforcty g sarfafay &y g 5

(B) Tea SfehTforciy shm &

(C) Fft paft siepmforda spmr &

(D) Sarfadia e &

Q.96 FUfeh & sTg 8 I T ErewT 71T ST 8

(A) feeag @ (B) Sidt &1 (C) Sfiisht &1 (D) I 9t
Q.97 ST &1 Ael A FH3T dehe S Hgald &

(A) ITsht geref (B) Sftawr () asfa uerdf (D) @re

Q.98 Iz J W g1 &

(A) 79 (B) AHTYEN (C) Faif (D) IuRieh # @ i g

Q.99 fohe YR & fAgt A Sfiarew sifde AT & Uy &rd € aur
BT pH 7 E FHH glAT 8

(A) ity fargt (B) amdra fArgh (€) Sae oA (D) W= A
Q.100 H1HH I 2AT3HT & 314 ! Hgd &

(A) ®q_(B) Serarg (C) #ew (D) ufRad= i




01- (A)
02- (C)
03- (D)
04- (A)
05- (B)
06- (D)
07- (C)
08- (A)
09- (B)
10- (A)
11- (B)
12- (A)
13- (B)
14- (D)
15- (D)
16- (B)
17- (B)
18- (A)
19- (A)

20- (A)

21- (C)
22- (B)
23- (C)
24- (D)
25- (A)
26- (C)
27- (A)
28- (D)
29- (B)
30- (A)
31- (D)
32- (B)
33- (B)
34- (B)
35- (A)
36- (D)
37- (A)
38- (A)
39- (A)

40- (D)

#1- (B)
42- (A)
43- (D)
44- (A)
45- (B)
46- (A)
47- (C)
48- (C)
49- (B)
50- (B)
51- (A)
52- (B)
53- (A)
54- (D)
55- (A)
56- (C)
57- (B)
58- (D)
59- (A)

60- (A)

fave fror Harg et & wiagifiar o
HaTeY Fa1gd faare vaer uHem HaT- 9 Jige TR~ 012 IERATAT

61- (B)
62- (A)
63- (C)
64- (B)
65- (C)
66- (D)
67- (C)
68- (A)
69- (B)
70- (D)
71- (C)
72- (D)
73- (D)
74- (C)
75- (D)
76- (D)
77- (C)
78- (C)
79- (C)

80- (D)




